5=JIS5vo

SRyY17

SMEYNZy IXE- M)

W) vutysyoxes

NN
T—%

KSR — BRI EL Y £,

AR

Pft# W3/8M:EEffF v b (D)
W1/2R:RAF v b ES (D)

SDft W3/8M: A< B F v hER(S)
W1/2R: ATy ~(S)

Zitk W3/8F: ABF v b EE(S)

KSR —BHRPIEL Y £,

AR

Pft# W3/8M:EEfFF v b (D)
W1/2M: <A+ v b ES (D)

SDith W3/8F: A& v b EE(S)
W1/2R: <&+ v k(S)

Zittk W3/8F:ABF v b ER(S)

S
R fEF
5 ¢ HEEPRAoliEFSE )
7
Q
R
X
»{
7
xR
| T
#S W3/8%25 . 5 N
< N @ -
FR
$11x16 PRGN
9}2}73 ) I J\‘ ! H ! ! SRS4N AT T VEA
B SR ERR IR E T N A So5—F w2 G ATy ¥ 11 00P)
(7 FHREE i ﬁ BT I NRERDT v TR
F PHtf £V b EBES(E) DHNWIE) KLU 77>YFy hE) HEBNE rory s b?gfiﬁﬁbiﬂ'
SDitfE %1 b, 1£0E2(S) ZDHNW3(Z) HUAAFy b EL(S) 735N =R o
5 ZiHHE A0 ERES(S) ZDHNWA(Z) BUARFY hEZ(S) [75kef]
5 St Kb ERES(S) SDHNR-W3(S) AU ABT v b.E£(S)
T
7
5 frig THYSE sREs -8R s memsrm | B0
R
5 P SRS4N 0.2 10 50 — RCIGEED! 495
7 SD SD-SRS4N 0.22 10 50 — M8(HRD 770
B zZ Z-SRS4N 0.22 10 — — (REIOaEED) 795
5 S S-SRS4 0.25 — — — (EEIOaxED) 1,180 0
7 FEREDZEE
¥ OHN—EERICERT 35HE1E.SRUICE ZERAC 2 &,
X
T vRUER * ERBMYEER
12
R B i
= )::| @‘ﬂ EEftFy b
a - \m¢)
3 - S
e ]
% /-
& r
E e
R HEBHE
z HREENE 588N [60kef]
> 980N T[100kef]
% B £ NI
= ! ] |
N
-
-

m W1/2BiARF v b (S) W1/28: A%y b (S)

; Sttt W3/8RB:ABF v b EL(S) Sft W3/8F:A<BF v b EL(S)

B W1/28:ABF v (S) W1/2B:AfFy k(S)

N

palin| - BE | ¥ . BR5E | RS | 8 s BE  |®B& . BREE | RS |

L || SRR mumrwe BRER) bR @ || | OFRE mpair|ws |(P2ER s @ |0

G P SRHI1N W3/8 [0.16|20 [100|—|1B(KE)| 330 P SRH2 W3/8 | 020 (20| — |—|1B(KEH| 435

P SRH1BN| wi/2 |018]20| —|—|1e=m)| 385 P SRH2B | wi/2 |023|20]— |-[1B2E)| 445 |+
SD |[SD-SRH1N W3/8 |0.16]20|100|—1B(&E)| 405 SD| SD-SRH2 W3/8 | 020 |—|— |—|VB(KED| B05 |

SD |SD-SRH1BN| wW1/2 |0.16|20 | —|—

1
1
1
B(RE)| 580 |t SD| SD-SRH2B | W1/2 [021|—|—|—|!
1
1
1
1

z Z-SRH1N W3/8 |0.17|20|100|—1B(~E)| 410 Z Z-SRH2 W3/8 | 019 | —| — |—|1B(HE)| 520 | M
Z | Z-SRH1BN| W1/2 |0.18|20 | — |—|1B(KE)| 590 |+ z Z-SRH2B | W1/2 |02 |—|— |—|1BEE)| 675 |#
S S-SRH1 W3/8 |0.18|20|100|—|1@(RE)| 780 |+ S S-SRH2 W3/8 | 018 | — | — |—|MB(RED|1,120 | A
S S-SRH1B W1/2 1020 — | — |—|1B(&E)| 900 | S S-SRH2B | W1/2 | 021 | —|— |—|1B(’E)|1,300 | i
FERLEOZER
Ot E £ ESRBGINBIC & 2 #EMIFICIHERATEE R A,
866 { P=%Y SD=SMEMD > TMWM(X—/N—F17)% Z=FmMIERD->EHELETFA S=2F> L IWA }




